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QUESTION 1

In MAC Address 00-20-60-CE-2B-28, which part is the Organizationally Unique Identifier (OUI)? 

A. 2B-28 

B. 00-20 

C. CE-2B-28 

D. 00-20-60 

Correct Answer: D 

 

QUESTION 2

In which of the following types of network would STP be used? 

A. An MPLS network with multiple LSPs to the same LER. 

B. An Ethernet network with redundant paths. 

C. An OSPF network with multiple equal-cost paths. 

D. An eBGP network with multiple ASes. 

Correct Answer: B 

 

QUESTION 3

Which of the following about the displayed IP filter is TRUE? 
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A. TCP (protocol 6) traffic between addresses 1.2.3.0/24 and 2.3.4.0/24 is dropped. 

B. TCP (protocol 6) traffic from source address 1.2.3.0/24 to destination address 2.3.4.0/24 is forwarded. 

C. TCP (protocol 6) traffic from source address 2.3.4.0/24 to destination address 1.2.3.0/24 is dropped. 

D. TCP (protocol 6) traffic from source address 1.2.3.0/24 to destination address 2.3.4.0/24 is dropped. 

Correct Answer: A 

 

QUESTION 4

Which of the following are correct statements about MPLS labels? (Choose 3) 

A. A sequence of label actions from one LER to another LER represents a logical tunnel known as an LSP. 

B. MPLS labels must be dynamically signaled. 
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C. Labels are globally significant to the MPLS network. 

D. MPLS labels may be dynamically signaled or statically assigned by the service provider. 

E. Labels are locally significant to the MPLS router. 

Correct Answer: ADE 

 

QUESTION 5

Which of the following is the best description of well known ports? 

A. Well known ports apply to routers only and are used for communication and control traffic. Well known port numbers
are assigned by IANA and can have any value. 

B. Well known ports are used by TCP and UDP. Well known port numbers range from 1024 to 65535 and are assigned
by IANA. 

C. Well known port numbers are used by both TCP and UDP. Well known port numbers range from 1 to 1023 and are
assigned by IANA. 

D. Well known ports numbers are used by TCP only. Well known port numbers are assigned by IANA and can have any
value. 

Correct Answer: C 
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